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Mr. Schlansky Pre Calculus

Functions Review Sheet

Determine whether the following relations are 1-1 functions, functions not -1, or not
functions
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Find the domainh(a)nd range for the functions below:
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Find the domain of the following functions algebraically
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If f(x)=6x—3and g(x)=2x+x, find:
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Use the followings graphs to answer the questions that follow:
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Find the i mverse ef the following functions algebraically

29. ﬂx)=—x+8 Q)(‘ l(g"’ 30. f(x}——ﬁx-z—%
...bﬁ_ 2w
AN
2 +H.a &ﬁ G)ZD
A g ANk -\1&+ /
Algebraically determine if the following two func ons are inverses of each other usin
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Sketch the graph 9}!41(:11 of the following on the provided grid /’}56'.“) l
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Graphically determine whether the following are even functions, odd functlons or neither.
Explain your answer.
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Algebraically determine whether the following are even functions, odd functions, or neither.
Explain your answer.
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45. The table below shows the number of hours of daylight on the first day of each mouth in
Rochester, NY. Given the data, what is the average rate of change in hours of daylight per month
from January 1st to April 1st? Interpret what this means in the context of the problem.
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46. The depth of the water at a marker 20 feet from the shore in a bay is depicted in the graph
below. If the depth, d, is measured in feet and time, ¢, is measured in hours since midnight, what
1s the average rate of change of the depth of the water between 3AM and 9AM? Explain its
meaning in the context of the problem.
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47. The world population was 2560 million people in 1950 and 3040 million in 1960 and can be
modeled by the function p(7) = 2560(2.61)****" | where 1 is time in years after 1950 and p(8) is
the population in millions. Determine the average rate of change of p(f) in millions of people per
year, from 4 €1 £ 8. Round your answer to the nearest hundredth. Explain its meaning in the

context of the problem.
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